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Instructions :

5494~

i)

ii)
iii)

vi)

vii)

There are seven questions in all in
this question paper.

All questions are compulsory.

In the beginning of each question, it
has been clearly mentioned that
how many parts of it are to be
attempted.

Markfs allotted to each question are
mentioned against it.

Start from the first question and go
up to the last question. Do not
waste your time on the question you
cannot solve,

Write the solution on the pages of
both sides of answer-book. Write the
steps of solutions of all questions
except Question No. 1.

If you need place for rough work, do
it on left page of your answer hof:tk
and cross ( x ) the page. Do not write
the solution on that page

https:/fwww.upboardonline.com



Viil} Do not rub off t

ix) Draw neat and

g22(AY)

d
he lines constructe
of construction.
s of constructionl

3

in a question
write the st€P
brief, if asked-

in

1 it is
solution of a question wl?erevg;‘ ;12 Is
i in its a
necessa otherwise
the sﬂr]}{;tion - will be treated

incomplete and Wrong:

1ot FeR-gfea A Wiy

%) frd e iE p & fag, o HIe
fersy quiteR T &9 8T
i) P i) p+l 1
iii) 2p iv) 2p+1

@ fg A(-40) B (4 0) 3K
C{D,S}@W%?ﬁ%lﬂﬁﬁﬂﬁm
) e B
i) GEiEg
i) GHARG PR
o) foreereg gt o

M gHET PR & e B 20 Jeft2
s 45 A2 &) g S H SR
?ii} %DSt iﬂ) 4:9- 1

K eeG [ Turn over
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correct figure m.
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)

4
) aﬁ\'tan[}:-—?%j,mjsgaqmm
42 -
) i) “Z“bj
a” +b”
a LU, b )
a® - b a’ +b>
U TSl i e bl g€ Sl TE 14 ¥ ¥
& e & g8 510 <ud &9%e g

)

i) 1026¥R° i) 10-50 T2,
i) 10-75997 iv) 11-0 ¥ 1
Us gRaRa de7 & fom wre, mfers ek
AR F I Y §

i) WEe = 3T - 2 WieRH

ii) g = 2 Witge — 3 WA

iii) g = 3 HIfeqeRt - 2 HNA

iv) SgCTh = 3 HifeeRT + 2 T 1

Do all the parts :

Four alternatives of the answer of .each part
are given, out of which only one 18 correct.
Pick out the correct glternative and write it
N your answer-book -

Fi_}

- A

For any positjye integer P every
positive odd imﬂgm— will be of the form
i] P i “] p + 1

i) 2p iv) op + 1 1

https://www.upboardonline.com



b)

d)

822(AY)

o) and
4,0, B(4,0) and

5

'ghleop(gr;tsarzg iEh; vertices of a trian
That triangle will be le

i) Right angled tn?ng

ii) Isosceles trialg eg]e

iii) Equilateral tﬂgﬂé‘ 1
iv) Scalene triang* . . les are

) o similar triangl€

The areas of tW0 =0 <pectively. ThE
20 cm? and 45 ¢M p

ratio of their heig ts will be

i) 20:45 1i) 3 g 1
W) 2:3 v) % o
alue of cos 6 Wi
e.:____-_.-—--,the‘r R
If tan 2 b2
be
- a2 - b"?r
) o1 W 2
a2 + bg . ) 2ab - 1
iii) W iv) 2 + b

; d of a clock is
e length of minute han _

’:I[\l,;}l cm. The area swept by minute
hand in oneé minute will be )
j 1026 cm? i) 1050 cm

2 i 0 cm 1
0-75cm® iy) 11+t L
1}"1‘::}.1- la frequenc}r] diStnbut&gn’ the
relation between mean, mecan and
mode 19 = Median
Mod€ 3 Mean — 2 N macan

- e=2 ian —*
i) Mod mEdlaE _ o mean

P f w1211 1
- - = \.1 =Y 3 -+ .Z tn‘
iv) Modb median

*e G
https://www.upboardonline.com
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o+ R
5cos? 60°+ 4 se-::2 30°—tan” 45°

sin?30°+cos230°
ﬂm&n—n"a?ﬁm 1
3 e, B | WS @ s 64 AR
% T o A fret qu ¥ o w
1 R &% S HITT 1

) TH EREH % 50 whE @ e Ay
e ama '
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2.

a)

b)

c)

d)

54943

Do ali the parts :
ps PT

Daily income

822(AY)
i

- and
In the figure, _SE?E .
/PST = £PRQ prove that APQR is &

isosceles triangle- p

0 R

, f
Find the value 0 2 o
5cos2 60°+ 4sec? 30°-tan 45 _ 1

sin” 30°+cos” 30°

e 64 cm
Two cubes each of volum . surface

are joined end to.end. Flrf{cjl th 1
area of the resulting cubold. ers of @
The daily incomes of SD'WOtable:
factory arc jven in followin

3

Find the low€r _lrmf and upP I
the modal class.

oeG [ Turn Over
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3. o+t mug R
®) S i B V3 @ i e by 2
) fafofiag wie fem # e B L

m

q)

Bl aé!i:”ﬂq :
i+EE+1=U,X'--H—:3. 2
2 3 3

Al-4,-3) 8K B(5,2)% e T
YrTETE ) A S | 2
2 3re g TF WA HAE F E I
%ﬂ‘%ﬂﬂﬁ%ﬂﬂiﬁ rlﬁﬂ T‘Q%H-?J:%w
T FOE F TF % % F9 6 oEie
fg o &1 fag S0 6 9EW % IR

- r’ 4
i B ]'35 &l 2

3. Do all the parts :

a)

.b}

54943

Prove that Jﬁ ié, an irrational number,
2

Solve tl}e following system of equations
by elimination method :

x 2y

—t—% l = 0 - y— =

N » X 3. 2

Find 'Fhe ratip i which x-axis divides
the Ine segment joining the points
CA(-%-3)ang B(5,2) 2

y ® _
https://www.upb og‘gnni ine.com
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9
] e the
’ id right c1rCUIarl cones I:mv
Y g:rzesol-iﬁnghq‘he radii of their bases
are r, and r They arée melted an
1 2 eight.
cylinder of same

re-cast into a s of the base of the

Show that the radiu

rl2+r22 2
cylinder is ——?3--‘
4 @t @UE HI |
fe &
) fomr o T ohpr fed fEre
. 1351 _. s )
ofiiR G ——— i S &
1250
@) fyew wHE 3x% —2/6x+2=0F T
qm:r@vg%r&:gmmﬁﬁﬁm 2

) zr’r%m'i‘ama,m.(o,bmml,uﬁ@

%ﬁ’r?ﬂ@ﬁﬁmﬁﬁé—%:l- 2

) o g 0 CAC| % € g
p@=24ﬁﬁrmpﬁﬁ7@ﬁ,ﬂjmﬁﬁ

T T SR g HitT | 2

il

54943 | TP Y _ [ Turn over
https://www.upboardonline.com -

822(AY)
4. Do all the parts :

10

a X .
) Wlthﬂut performing the long division
Procedure show that the rational
1351
n - ' .
Umber 350 1s terminating decimal.
b) 2

Find the roots of Quadratic equation

3x° - 2/6x+2=0 by factorization

method. 2
¢} If the points (a 0), (0, b) and
, {11, 1 ) are collinear, prove that '

—+==1,
a b - 2

d) In the figure, Ois the centre of a circle.
If PQ = 24 cm and PR = 7 em, find the
area of shaded portion. 2

5. |t @ug W : .
) TR o R Renr & Yew gheo
IECap| 2x+4y=10 #R 3x+6y=12 HI
&l T 1@ g 4
W) US FYS ABC Witgu feH BC = 7 T,
£B = 45° 3R £A = 105° &1 BT ABC
F T TH U@ et H T R
T aet aapc F @ FTEA W
%‘I:ﬁﬁn . 4

54943 eeg
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a o @ = 1 .
tan 35° tan 40Q° tan 45°tan 50°tan55 5

i) AABCH fag FC

B+C 2

&

Y
tan =c0 )

) ﬁ%ﬁ%ﬁﬂéwﬂﬁwmmzsﬁ,
R ' HiAg @

10-20 20-30

B ; 6 f 6

30-40 40-50 \
10 5

4

he parts :
) 50 aasil:rmwpl?y graphical method that system

f linear equations
;x+4y=1{] and 3x+6y=12 has no

https:/ www upboardonline.com 4

solution. ‘ -
by Draw a triangle ABC 1n o which
Bc = 7 cm, /B = 45 and

/A = 105°. Construct a triangle,
similar to triangle ABC, whose sides

are % times of the correspondiﬂg sides
of AABC. _ 4 |
¢) i Prove that ) .

tan 35°tan 40°tan 45° tan 50°tan S5 212,

— ndtan~

822(AY) 12

11] In AABC, prove that

B—I-C A
tan — ——=Cot2
an ) 5 - 9

d)  If the arithmetic mean of the following

given table is 25, find the missing

frequency :
Class-interyal 0-10 10-20 - 20-30
Frequency 6 f 6

30-40 2650 ]

|
Wit e Hiv - 4
&) kﬁ%mmaﬁmw
%?W x° +kx +64 =0 3R
x® —8x+k=0 %ﬁuﬁmm14
@) U W AR ¥ 14 R BW e ¥ 2w
W B W w UE R W A Y
SAE RO 60° AN W ¥ AR
1o mSO“%I'w@aﬁmw

™ T 3 facde aﬁhﬁﬁﬂ; \
o AN HHR 7
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D T T g g 7 R A A

- _._ﬂ—."__
i [ 010 | 1020 | 20-30 | 30-40

Tfotfiag & B

Rl Fr @@ | o 10 12 15

|

a)

b)

Do all the parts :

| ( given J3=1-732))

.2 cm an

40.50 | 50-60 [ 60-70
13 8 4 -]
Hiferes S S | 4

tive value of k for
ns x> +kx+64=0
2 al

and X~ - "

t ) -

Izonfan standing on the deck of a ship,
which is 14 metre above water level,
levation of the

rves the angle of e
ff;eof a hill .as 60° and the angle of

of the base of the hill as

ssion _
ggl'?.reF‘ind the height of the _1;111 and
distance of the hill from the ship.

Determine the posi

which the equatio
8x+ k=0 will have both re

4

A solid to¥ is in the shape of a
hemisphert Surm_cunted by a right
circular cone. Height of this cone is
d the diameter of the base is

the volume of this toy. If a

ind ‘
A g circumscribes

rcular cylinder

joht ¢l
&gehtoy, find the difference of volumes
of the €Y linder and toy. .
( Take 7= 3-14) |
008G [ Turn over
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14

d)  The marks obtained by the students of

=

class in  Mathematics are as

Marks obtaineq |

Numbﬁr of

20-30 | 30-40 |
ERER
| 40-50 [5060 [60-70 |

13 1 8 | a2 |
| 3

Find the median.

7. Wi g e
Hi)?ﬂ?ﬂﬁ,fagﬁﬁmmﬂw

S fordt/eman 12 Bt o & e

B e T L

L 90T 4 W ol ¥ uRr ) e s
| .
6
Hgan
o 4320 ¥ 7 9
T Hg | iq&qﬁw%ﬁﬁ

@) 3 ﬁlﬂﬁﬁ, A BD L AC wey 'CE L AB
T g 9 R AAEC ~ AADB
- 3
D
F
54‘943 A E N
°eG
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) lgﬂfﬁ’ﬂ@ @ :
i) igicggl s AB?Z?ACQ, ?ﬁ\fﬁf&;
aﬁfﬁ'q ﬁ_ﬁ 5}436@ EI'ZIEHIIJI i%ﬂjﬁ zl

arerar

. ~ 4, fagel T @ 2
i) AaBcH THACT forg DT I
Ruq & fF £ACB = <ABD

7. Dol wh in still water 15
A3 }g;?%rw;ﬁz ?plggﬂr more time tf.?u 1%':1}
' ?2 km , upstreain than to thind
downstream (0 the same Spol. a

the speed of the stream.
- e f the roots of the
Find the naturc 0 o oen8o0. ©

3

Ladratic equation
?he roots are real, find then(’:l:. id 6
) In the figure, if BD L 4
b CE L AB, prove that
AAEC ~ AADB.
| C
B 3
[ Turn over

54943 oG
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i) AABC is an isosceles triangle in
which AC = BC. ¥ AB?=2AC,
prove that AABC is a right triangle.

: 3
OR

i) In equilateral triangle ABC, whose

side is a , prove that its altitude is

ay3 3
5

ii) The point D is on the side AC of
AABC such that ZACB = ZABD.
Prove that AABC ~ AADB. 3

822[AY} - 3,20,000
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